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PART C: Reading Comprehension

Directions: Read the following five passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:

Although "lie detectors" are being used by governments, police departments, and businesses
that all want guaranteed ways of detecting the truth, the results are not always accurate. Lie
detectors are properly called emotion detectors, for their aim is to measure bodily changes that
contradict what a person says. The polygraph machine records changes in heart rate, breathing,
blood pressure. and the electrical activity of the skin (galvanic skin response, or GSR). In the
first part of the polygraph test, you are electronically connected to the machine and asked a few
neutral questions ("What is your name?" "Where do you live?"). Your physical reactions serve
as the standard (baseline) for evaluating what comes next. Then you are asked a few critical
questions among the neutral ones ("When did you rob the bank?"). The assumption is that if
you are guilty, your body will reveal the truth, even if you try to deny it. Your heart rate,
respiration, and GSR will change abruptly as you respond to the incriminating questions.

That is the theory: but psychologists have found that lie detectors are simply not reliable.
Since most physical changes are the same across all emotions, machines cannot tell whether
you are feeling guilty, angry, nervous, thrilled, or revved up from an exciting day. Innocent
people may be tense and nervous about the whole procedure. They may react physiologically
to a certain word ("bank") not because they robbed it, but because they recently bounced a
check. In either case the machine will record a "lie." The reverse mistake is also common.
Some practiced liars can lie without flinching, and others learn to beat the machine by tensing
muscles or thinking about an exciting experience during neutral questions.

According to the passage, lie detectors ----------------

1) can’t detect human emotions 2) are approved of by scientists

3) aren’t favored by all scientists 4) are used to predict what a person says

The polygraph machine records changes in all of the following EXCEPT ----------- z

1) GSR 2) breathing 3) heartbeat 4) facial expressions
The word "that" in line 3 refers to ------------ .

1) aim 2) changes 3) detectors 4) emotions

According to the passage, the assumption underlying the polygraph test is that ------------ .

1) our body won’t hide the truth

2) our body connot prevent us from lying

3) a guilty person won’t remember the lies he has told

4) a guilty person connot respond to critical questions

According to the second paragraph, psychologists --------aeue-- .
1) doubt that the information lie detectors give can be trusted

2) have found more reliable machines than lie detectors

3) have tried to discourage the police from using lie detectors

4) believe that physical changes are not caused by our emotions
Which of the following questions doesn’t the passage answer?
1) How does the polygraph machine work?

2) What kind of questions does the polygraph machine ask?

3) Can the polygraph machine detect physical changes and emotions?
4) What kind of crime is the polygraph test suitable for?
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Passage 2:

What are the symptoms of a shopaholic? People with this problem often spend hours and
hours shopping on the Internet or at the mall. Their closets are full of clothing and jewelry that
they have never worn, with the price tags still on them. Their homes may be packed with
shopping bags and boxes that overflow with things that they bought but never used: kitchen
gadgets. books, electronics, DVDs, and dozens of other items. Many shopaholics are aware of
their problem, but when they go to a store, they simply cannot resist the urge to buy. Some of
them are ashamed of their weakness and try to hide it by storing their purchases in places like
the attic, where others won't see them.

Psychologists suggest there are several reasons for a shopping addiction. For some people. it
is a way of relieving stress. For others, shopping is a way to fight loneliness or depression. For
people with low self-esteem, shopping can be a way that they prove their self-worth.
Sometimes the problem develops out of boredom. It becomes a replacement for other hobbies
and interests, and it helps pass the time. Although shopping can temporarily make people feel
good, they often experience feelings of shame and guilt later.

When shopping habits get out of control, people need professional help. They can either see
a counselor or join an organization such as Shopaholics Anonymous. Groups like this try to
help people understand the reasons for their addiction and learn how to control the urge to
shop. Their goal is to help people find ways to fulfill themselves that do not lead to serious
debt and troubled lives.

The paragraph preceding the passage most probably discusses ------------

1) online shopping 2) shopping addiction 3) advice on shopping 4) shoppmg habits
Which of the following is NOT a reason for shopping addiction, according to the passage?
1) Coping with stress 2) Boredom and loneliness

3) Building self-worth 4) Fighting feelings of shame and guilt
Which of the following statements is NOT true according to the passage?

1) There are several symptoms of a shopaholic.

2) Some people’ shopping habbits are out of control.

3) Shopaholics like to show off their purchases.

4) Shopaholics buy things that they do not need.

The word "them" in line 8 refers to --------------- .

1) purchases 2) places 3) weaknesses 4) attics

Why does the author mention Shopaholics Anonymous in the last paragraph?

1) To introduce a web sit where the readers can get more information on the subject

2) To give an example of an organization that helps shopaholics

3) To emphasize that there must be more professional organizations to help shopaholics
4) To encourage counselors to advertise on the Internet

Which of the following is NOT discussed in the passage?

1) Reasons for shopping problems

2) Tips counselors give shopaholics

3) Professional help available for shopaholics

4) Feelings shopaholics have before and after shopping
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Passage 3:

Modern psychologists use the word temperament to refer to a person's predisposition to
behave in a certain way. Temperament refers to the style rather than to the content of behavior.
[t concerns whether one generally seeks excitement or sits alone whether one is usually highly
expressive or inhibited, joyous or sullen.

Personality. on the other hand. is the full-blown complex set of traits that distinguish
an individual. We would need to list hundreds of particulars in order to describe a person we
know well: slow to anger., tough when provoked. generally calm. reads the sports pages,
generous, athletic.

Each of us forms our own theories of individuality. We use these ideas not only to
characterize other people ("Joe is an honest person.") but also to predict ("Morgan is generous,
so I'll ask her if I can borrow a ten."). Belief in the importance of personality traits rests on the
assumption that knowing a person's characteristics will tell us something about how that
individual will behave. Trying to predict how anyone will act, however, is a bit like trying to
predict the weather in some random month from now in a random place at a random time.

We tend to see how a person behaves and then attribute that behavior to a basic personality
trait. Most of us assume that these traits consistently influence others' behavior. We think that
someone who is honest never lies to friends, does not cheat. and doesn't steal. But we are often
wrong. Some psychologists question whether people really are consistent enough across
situations to make knowledge of personality useful in predicting behavior. This very
complexity, however, is probably what keeps most of us interested in each other, as we puzzle
over how to piece together an accurate picture of another person.

What does the passage mainly discuss?

1) Temperament and personality 2) Theories of individuality

3) Factors affecting human behavior 4) Controversial issues in psychology
The word "inhibited" in line 4 is closest in meaning to ---------------- >

1) aggressive 2) reserved 3) humorous 4) serious
According to the passage, temperament -------------- 3

1) concerns the feelings we have in different situations

2) refers to very indefinite dispositions

3) is the what of behavior

4) is the how of behavior

What is the author's purpose in the third paragraph?

1) To define some key concepts

2) To show how people describe each other

3) To illustrate differences between people

4) To question the usefulness of personality in predicting behavior

The phrase "this very complexity' in lines 19- 20 refers to -------------- ;

1) predicting behavior 2) knowledge of personality

3) inconsistencies in people’s behavior 4) people’s interest in each other
It can be inferred from the passage that ------=--e--- .

1) it is rather impossible to predict behavior

2) personality traits consistently predict our behavior

3) psychologists disagree about what personality and temperament concern
4) we can rely on theories of individuality to get an accurate picture of people
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Passage 4:

In addition, mistakes may arise due to stubbornness. No one likes to abandon a
cherished belief, and the earlier a decision has been taken, the harder it is to abandon it. Drug
companies must decide early to cancel a failing research project to avoid wasting money, but
may find it difficult to admit they have made a mistake. In the same way. analysts may have
become wedded early to a single explanation that coloured their perception. A fresh eye always
helps.

People also tend to put a lot of emphasis on things they have seen and experienced
themselves, which may not be the best guide to decision-making. For example, somebody may
buy an overvalued share because a relative has made thousands on it, only to get his fingers
burned. In finance, too much emphasis on information close at hand helps to explain the
tendency by most investors to invest only within the country they live in. Even though they
know that diversification is good for their portfolio. a large majority of both Americans and
Europeans invest far too heavily in the shares of their home countries. They would be much
better off spreading their risks more widely.

More information is helpful in making any decision but, says Kahneman, people spend
proportionally too much time on small decisions and not enough on big ones. They need to
adjust the balance. During the boom years, some companies put as much effort into planning
their office party as into considering strategic mergers.

The paragraph preceding the passage most probably discusses ------------- ;
1) how to make decisions

2) how to abandon old beliefs

3) strategies for avoiding mistakes

4) another reason for mistakes in decision making

The word "cherished' in line 2 is closest in meaning to -------------- i

1) old 2) special 3) favorite 4) strong
According to the passage, people ---------------

1) don’t spend enough time to make important dccmons

2) should base their decision making on their personal experiences

3) easily abandon the decisions they made long ago

4) don’t usually use other people’s experiences as a guide to decision making

The word "their" in line 14 refers to -------------- .

1) shares 2) portfolios

3) home countries 4) Americans and Europeans

What is the writer’s attitude toward companies investing in their home countries?
1) Sarcastic 2) Disapproving 3) Subjective 4) Doubtful

Which of the following best describes the organization of the passage?
1) Aspects of an issue are compared and contrasted.

2) Arguments in favor of and against an issue are presented.

3) Causes of a problem are presented and examples are given.

4) Examples of an issue are given and generalizations are made.
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Passage 5:

What do we mean by being 'talented' or gifted? The most obvious way is to look at the work

someone does and if they are capable of significant success, label them as talented. The purely
quantitative route -'percentage definition' - looks not at individuals, but at simple percentages,
such as the top five per cent of the population. and labels them - by definition - as gifted. This
definition has fallen from favour. eclipsed by the advent of 1Q tests. favoured by luminaries
such as Professor Hans Eysenck, where a series of written or verbal tests of general intelligence
leads to a score of intelligence.
The IQ test has been eclipsed in turn, Most people studying intelligence and creativity in the
new millennium now prefer a broader definition, using a multifaceted approach where talents
in many areas are recognized rather than purely concentrating on academic achievement. If we
are therefore assuming that talented, creative or gifted individuals may need to be assessed
across a range of abilities, does this mean intelligence can run in families as a genetic or
inherited tendency? Mental dysfunction - such as schizophrenia - can be an efficient mental
capacity passed on from parent to child?

Animal experiments throw some light on this question, and on the whole area of whether it
is genetics, the environment or a combination of the two that allows for intelligence and
creative ability. Different strains of rats show great differences in intelligence or 'rat reasoning'.
If these are brought up in normal conditions and then run through a maze to reach a food goal,
the 'bright' strain make far fewer wrong turns that the 'dull’ ones. But if the environment is
made dull and boring the number of errors becomes equal. Return the rats to an exciting maze
and the discrepancy returns as before - but is much smaller. In other words. a dull rat in a
stimulating environment will almost do as well as a bright rat who is bored in a normal one.
This applies to humans too - someone may be born with innate intelligence. but their
environment probably has the final say over whether they become creative or even a genius.

What is the author’s purpose in this passage?

1) To illustrate 2) To explain 3) To compare 4) To describe
According to the passage, the IQ test ------------ .

1) was introduced by Hans Eysenck 2) gives a numerical value to intelligence

3) is still a reliable measure of intelligence 4) recognizes talents in many areas

The word "luminaries' in line 5 could best be replaced by -------—--—- -

1) experts 2) researchers 3) popular people 4) university professors
In the third paragraph, the writer tries to ----------------- ;

1) give examples

2) draw conclusions

3) answer a question raised in the text

4) question what researchers have found about intelligence

Why did the author mention rats in the third paragraph?

1) To review some animal experiments

2) To provide an answerer to a question

3) To compare rat reasoning with human reasoning

4) To give an example of intelligent animals

It can be inferred from the passage that writer believes that ------------- ;
1) intelligence is not an inborn trait

2) there is no way to decide what allows for intelligence

3) the environment plays a greater role in building creativity

4) being a genius means the person is born with innate intelligence
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